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1- Convert a torque value of 531 N.m in to US units. | l_b = 4 4482 }}T
il 1 slug=14.5938 kg
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2- If force F is to have a component along the u axis of F, = 6kn, determine the
magnitude the of F and the magnitude of its component F, along the v axis.
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3- It is required that the resultant force acting on the eyebolt in figure below be directed
along the posrme x axis and that F, have a minimum magnitude. Determine this
magnitude, the angle o and the corr espondmg resultant force. (1 marks)

1}~ a gg — fa
5l.ﬂ7° R £ SN Zd

B = ]Z2ocS,pse

s

.{"2: )7—°3‘;'ﬂ/°:ly?..2'n/

4- The magnitude of two forces is such that when acting at right angle p10duce a
resultant force of R 30KN., and when acting at 60° produce a resultant equal to R>=
38KkN. Find out the magnitude of the two forces. (1 marks)
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5- If the resultant force of the two tughoats is 3kN. directed along the positive X axis,

determine the required magnitude of force FB and its direction u. (1 marks)
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